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A IHa | I &, b || ft I 8, ah I, ah

| BT Tgl WHHT g

B. 9thad | I g, ahd || HY I &, IhA I, Thd

| BT T WHHIUT TE] 2

C. gha | I g, IthT |1 3T ¢

D. dhd | 3 &, Ihd || I &l

Answer: C
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A. IHa | I &, b || ft I 8, a6 1, b

| BT Tl WSIHT g

B. 9thad | I g, Ihd || HY I &, IhA I, ThA

| BT Fal WG 78! gl
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C. Thed | I &, Ithe |l 3 B

D. dhd | 3 &, Ihd || I &l

Answer: A

O ==

55. If¢ U g S = 0, AfRIAT zy = ¢ B IR
forg3il R fertsg e 2
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A IHa | I &, b || ft I 8, a6 I, b

| BT Tl WHBT g

B. Ithad | I g, athd || HY I &, IhA I, Thd

| BT Te! TSI el 2

C. gha | I g, IthT |1 3T ¢

D. dhd | 3 &, Ihd || I &l

Answer: D
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56.dthad | AfG P (1, 4) T Q (K, 3) dT IWRGUS PQ &
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A. 9 | I &, ahd || ft I &, ah I, b

| T TE TSHR0T 2

B. Ithad | I &, Ihd || HY I &, IhA I, Thd

| BT U WSIHR0T T8l &l

C. ghaT | I &, Ihed |1 3T 2

D. dhdd | 3 &, Ihd 1| I &l
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Answer: A
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B. Ithad | I g, athd || HY I &, IhA I, Thd

| BT Tl WHHIUT Tl 2

C. gha | I g, Ithed |1 3T ¢

D. dhd | 3 &, Ihd || I &l

Answer: C
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